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1315 M7[H|Z 0 0 0
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1316 X2 0 0 0
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F| S|
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2110 B[Rt 2 0 0 0
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AT A 130,966,955 | 123,722,588 | 7,244,367 | AlgX|& &4 130,966,955 | 123,722,588 7,244,367







A= o &M

(2013. 3. 156 2014. 2. 287}X|)

(1) = & che M @
. 2013 ol &t 2012 =Ho| & 52 NE
2 | ] =2
2 e ofgt sig e 112,748,064 104,898,426 7,849,638
mEA g 7 111,256,000 101,456,170 9,799,830
FAZT |2/ A ¢ 687,064 3,120,572 (2,433,508)
FAu e F 0 0 0
A H o] b= 0 0 0
Al EHf| F O] Kp=¢ 537,064 2,970,572 (2,433,508)
7| EFY &b 0 0 0
A 242 150,000 150,000 0
PIIER=EN] 0 14,164 (14,164)
Auty |2 Z 0 14,164 (14,164)
PSP =1 0 0 0
MI|1REHolY 0 0 0
Er=9 5,000 81,225 (76,225)
7|EtR el 800,000 226,295 573,705




=} = ,
e o = 2013 of| &t 2012 FZoj &t Eray

SHold 0 0 0

Extgzol ozt g R 161,200 829,418 (668,218)
E7| S Xtoll 2|5t S F R 0 0 0

E7|tioiF 3% 0 0 0

FIEH ozt 0 0 0

SRR B T Bl F 0 0 0

SRR M2 0 787,150 (787,150)
HrFe8ME HE 0 0 0

FARIMEHES HE 0 0 0

EXg 3l 0 0 0

2E= 3= 0 0 0

7| EFRHAE =2 0 787,150 (787,150)

DHRHES| M & 161,200 42,268 118,932

EX|of Z+CH 0 0 0

S0l Zteh 0 0 0

TEE0) 2 0 0 0




Jo

= o = 2013 of| At 2012 FFoj 4t S ME

7| A 7| Hof Zth 10,000 2,350 7,650

Z7|8| Z o) Ztch 0 5,805 (5,805)

AtEFektol 2oy 0 34,113 (34,113)

7| EbRE D RpAtol Zt) 151,200 0 151,200

SR HE 0 0 0

A Egsol o8 HERY 0 305,000 (305,000)

Elel At s12 72 0 305,000 (305,000)

= ZA PN R=IE= N ol 0 0 0

H w8 = 0 0 0

7IAe a3 & 0 0 0

AUESF ¢ 0 0 0

IHEH F Ve A 0 305,000 (305,000)

PSPAPNE S =gded] 0 0 0

gHols|A £z ¢ 0 0 0

J|Et £EodF ¢ 0 0 0

M7lo|gxtZ 18,057,691 17,689,744 367,947
Age & A 130,966,955 123,722,588 7,244,367







A = o A A
(2013. 3. 156 2014. 2. 287}X|)

(2) Xl &
- | o - = < 2013 ol &t 2012 2ol & 52
2gesol 2t igRE 87,453,513 103,821,325 (16,367,812)
el g 7& 42,113,732 53,935,393 (11,821,661)
blFal] 10,577,760 11,071,334 (493,574)
EE L] 786,500 251,234 535,266
AR E 0 0 0
MNZ a3 ot 140,000 131,836 8,164
7| 0 26,020 (26,020)
4 &bl | 141,000 67,051 73,949
7| EHErol o ka | d] 33,664,521 33,934,900 (270,379)
Holduts| A M EF 0 4,400,132 (4,400,132)
O|Att|-& 0 0 0
JIREXE 30,000 3,425 26,575
Rl = 30,000 3,425 26,575
PSP =1 0 0 0




H
Jo

P = = 2013 o & 2012 £Zoj| &k s M
HI|2ESHaA 0 0 0
& 0 0 0
JlEte el e 0 0 0
sgaal 0 0 0
ofid|b] 0 0 0
EXxtgsol ot igRE 18,649,544 2,061,519 16,588,025
cho| EXjofl o3t HBRE 0 0 0
cho|chol & x| & 0 0 0
77154 35 0 0 0
SEpRIAL B 7 |EHR| & 0 0 0
L N 0 0 0
FHEENENEE 0 0 0
sxgozAe S 0 0 0
EINERIE 0 0 0
253 X& 0 0 0
7| EFERIRIA £ S 0 0 0




Jo

e = 2013 of| &t FZoj 4t Eray

18,649,544 2,061,519 16,588,025

EXlofe 0 0 0

HENY 543,180 438,000 105,180

TEEUY 0 0 0

ZIAZ| ol 6,433,122 1,312,527 5,120,595

HoHEm Y 3,263,435 53,718 3,209,717

Xtg2dtol el 62,820 59,774 3,046

J|EFRE D ERpAOH 2 8,346,987 197,500 8,149,487

FHEIYRAe F S 0 0 0

A 2gsol o3t 6,453,898 2,885,495 3,568,403
6,453,898 2,885,495 3,568,403

CHI|RM F Al 0 0 0

RS2 XIS 0 0 0

7|zt F abst 0 0 0

2 ZF dhat 0 0 0

D™MEM EIEXE 6,453,898 2,885,495 3,568,403




= = < 2013 ofl &t 2012 £FoM 57
AR HERE 0 0 0

ERIERE-T =T 0 0 0

T|EFEA S et 0 0 0

xt7|ol g2 18,410,000 14,954,249 3,455,751
Aa X EEA 130,966,955 123,722,588 7,244,367




